
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th  Month, 1st Week, 4th Day Syllabus: Unit 4: Exercise − No. 2 Q No. 1

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. When we convert into decimal we get:

ÃÃÃÃŸŸŸŸZZZZ((((ggggtttt~~~~$$$$++++BBBBÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: ZZZZ####ëëëë

(a) 0.24 (b) 2.4 (c) 24.00 (d) 0.024

ii.  = ___________.

(a) 0.05 (b) 0.005 (c) 5.00 (d) 5.00

iii. When we convert  into decimal we get:

ÃÃÃÃŸŸŸŸZZZZ((((ggggtttt~~~~$$$$++++BBBBÂÂÂÂ…………qqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: ZZZZ####ëëëë

(a) 6.0 (b) 0.6 (c) 0.006 (d) 6.00

iv.  = _________.

(a) 0.24 (b) 0.024 (c) 0.0024 (d) None Ãð7

v. When we convert  into decimal we get:

ÃÃÃÃŸŸŸŸZZZZ((((ggggtttt~~~~$$$$++++BBBBÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: ZZZZ####ëëëë

(a) 0.012 (b) 0.12 (c) 12.0 (d) 102

Q.No.1.   Represent into decimal: (5) ŸŸŸŸZZZZ((((ggggtttt~~~~$$$$++++BBBB::::  ::::1 ÎÎÎÎZZZZwwww����

(i)                 (ii)    

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
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